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"Evidence of Former Tree Growth at Clomsast”

An error in transcription occurs four lines from the bottom

;of pégé 4. The passage should read ----

"That neasrest the zero line represents the pollen value ex-

pressed as a percentage of the total.of all arboresl and non-

- arboreal pollen present (but excluding wet-habitat species).

The outer curve of each pair represents the pollen value ex-

rressed as & percentage of total arboreal pollen only, in the
case of trees, anG as s percentage of total non-arboreal pollen

only, in the case of non-arboreal plants®



